SuMPO SuMPO EPD SUMPORESAJL FOJ5 s

E p D _ — B EEAY AT IR E S
.0 S1TNBEEE (EPD) HRIBT R AR A 1-14-8
VR L ER KANDA SQUARE GATE
EERES ¢ JR-AI-25427E https://ecoleaf-label.jp

FUJIHILM

| | E Value from Innovation
EXT7MIL EVRR A /N-V3VRE
FUJIFILM Business Innovation Corp.
T OOLREEH

= Monochrome

. Wide-format Multifunction Printer

- . ApeosWide 3030 MF (Model-4R)
” T (for JP)

ApeosWide (&, BLIAIAESHZRA IR-2 RS OERBHIZF(IBIETI,

HEHE ERES JR-AI-25427E
e aERy EAPCRES  PA-590000-Al-08
PCR% EMRA H 28
HEX RERPE NI 2026528270
WS & CIep e &4 RILE1EHE 202652848
ORMEAE QLE OB OfFER - REEA YATLFREEA R,
®FEE-UYM1I)l RAEES 2025-FB-EL-095
IRIEEEAR 20312438
HEmnBX, TEMLK-FET PCRLE1-DEE
A= : ApeosWide 3030 MF (Model-4R) HEHZ 202398 1H
FEMAK  5-ITA-NYNTUVY (EPAR) £8E Bl 22
EIRIEE : /70 A4 33; 12ppm #7; 10ppm (FrIE — M EE A Y AT F IR E HEHEHRE)
A0 97; 3.2ppm FE=ERE: BEAFT
BRABEYAX : 18,914.4mm, &;15000mm HNEBIRELE

FUV b/ 2%y
ISO14025[CRE > e AT & R VT —9 DIAILLIAREE
CIPE WS
*YAT LR ER IR EENORIDZ SR, VAT LRAEIToLEEEDAH]
EREH
Fuabhtk BLEITMIWLESKRAA )RS3 VAEH
BRMARXAREHF ST HIE

https://www.fujifilm.com/fb/

Fi5ES © JR-AI-25427E


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

SUMPORIESANITOIT A

SuMPO
EPD SN B —BHEE A AT PR
of .0 S4TNBIBEE (EPD) ERATAERAME-14-8
Yk REELED KANDA SQUARE GATE
BipES JR-AI-25427E https://ecoleaf-label.jp
1TV VIV EFMmER
SIEZEE - &5 kg-CO2eq 1.60E+03 9.57E+01 7.36E+01 1.03E+03 1.94E+02
AV BHIE kg-CFC-11eq 7.80E-05 1.54E-07 3.73E-08 3.91E-06 3.21E-08
EREL kg-PO43-eq 3.24E-02 5.77E-04 3.99E-04 3.17E-03 3.75E-04
72| d kg-SOzeq 4.07E+00 6.94E-01 1.26E-01 7.35E+00 2.50E-01
HALEAFII I kg-CzHieq 2.55E-02 7.29E-05 8.43E-04 1.58E-03 2.55E-03
FEME RS - 4 kg-Sbeq 5.62E-01 3.86E-04 2.64E-05 1.48E-02 4.86E-05

S1THLIIWAIRY Y 3 IREIEE R
—REROERCET31E1R

FRERE | WERE | AR Efg';fﬁ s
BHATRE—RER - IRIF- (RPRy) M) 3.20E+03 8.85E+02 2.04E+01 9.29E+03 1.10E+02
BAETE—RERE - IRVE-2EHE (RPRy) MJ 5.17E+01 1.44E-02 5.40E+02 6.58E+02 2.31E-02
FEFETEE—RER - ITRILF¥- (NRPRY) MJ 2.64E+04 3.50E+03 8.61E+02 3.69E+04 1.53E+03
FEBEATE—RER - IRLE-2HBME (NRPRy) MJ 1.47E+03 1.12E+00 6.68E-01 1.38E+02 1.85E-01
HKKDEEE m? 9.85E+00 5.20E-02 5.67E+01 6.97E+01 2.06E-02
HEBRICEAT2EMIER
-BAREARIEELTEELELL,
+I=IITA=NYNTUVHEPAR)DIZHE Y FUATEELTVET,
B RO EFE AR EMTT,
(B - MR ICB BRI EROETEEENE A,
ERBOEN . IRVF-25-T0TF LVer3 28 (SR> TCHE LETECIEZ TICEELELE,
B EENRITER (L, 19,2001 (A0) TY
5(#0) x 3.2 (ppm/B) x 5(B) x4 (8) x 12 (v B) x 5 (5) = 19,2001%
Z Db DIRIEFDEEIR
IXNF-25-T0Y5LVer3.2 HE,
MRELOMEICRIT SRR S BEWHICETEIER
-8 (ERIBS) Bifyy b= CAS No. ENE
I 5E 5 170 kg - - -
SuUS 19 kg - - -
TIVIZUh 6.6 kg
ZothERE 29 kg ERALEZRT-IDEZXS
T3AFvY 31 kg REAIE, LCIT-5N-2RIDEA Ver3.4, SUMPOREININTOIS L& FT -5
BN 0.82 kg Ver.1.16& AL TWET,
AR 0.29 kg
R A BEEMR 8.0 kg -
it 49 kg
Z0ft 9.3 kg

@T-YEEDHEL. PCRELUVEE - ESHEESBL TR,
OLLEIIDVTE. BEE - EERBICRESNREEHB LSS LLARDONEEA,
(BEBSURL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

